ARNTEREFSREHFEHT - AOKEFR

FRi26%8 KRBT
TR 264F8HAKH BE CIIZES
HEE 5 = H X5 HEHH 58 z 5
BAAEEAAQD 27,110 34,889 37,304 72,193 BAAERAAQD 27,037 34,819 37,248 72,067
SNEAERAO 182 226 234 460 SNEAERAO 185 226 235 461
KENMAB 27,292 35,115 37,538 72,653 KENHAB 27,222 35,045 37,483 72,528
BARAGFE#TE - AOKFE (IBARZRHET) BXRAGERHH - AAKEE (BB
THU I R R i e 5 & 3 FTH I 4 BR R i 8 z 5 (BH#) (BEH)
AR ;2 T hisk AR EHET 1,075 1,422 1,402 2,824 B — Al =2 251 301 335 636 X% HEH 5 z it X5 HE L3 T S
KiEHhisg Kig 801 901 935 1,836 b ¥ /N 121 161 167 328 HWmE—TH 792 882 990 1,872 wu&aE—THB 26 39 36 75
2 HT 75 Hh 15 PN ] 205 210 231 441 =H 114 147 162 309 WME-TH 559 669 751 1,420 WILE=-THE 0 0 0 0
ZA T B Hh 3 N 887 1,007 1,068 2,075 A T S B 70 90 103 193 WE=TH 262 330 372 702 WILE=TH 0 0 0 0
TR s TR 1,028 1,242 1,392 2,634 KEf 203 251 248 499 WEMTH 200 252 288 540 WILEMTHB 0 0 0 0
T/ E i H/E 475 561 601 1,162 EEFE 18 27 27 54 WEATH 774 1,026 1,149 2,175 BWILERTHB 0 0 0 0
K2 A EELW 193 223 268 491 FAFTET 176 178 218 396 FENARTH 89 117 121 238 WILEARTE 3 4 5 9
ma 103 156 154 310 T Hh i FhTET 125 140 157 297 W&EtTH 185 248 265 513 wWLUEtTH 227 317 336 653
iR ithig iR 259 320 364 684 L FrHET 130 173 162 335 HES—TH 0 wWILE/NTB 0 0 0 0
AR s ZAR 1L 94 108 139 247 Fa ET 178 221 263 484 HEEZTH 236 324 326 650 WILEATE 0 0 0 0
KE 848 989 999 1,988 PHHET 16 22 29 51 HEEB=TH 8 10 9 19 wua+TE 59 90 91 181
dt 2 [E iz dzE 441 506 512 1,018 i = Hhig Fh T 38 32 46 78 HEEMTH 0 wua+—TH 1 4 5
ot i RELE 101 197 191 388 SRAT 101 17 127 244 WMEAETE 295 355 406 761 MILE+=TH 0 0 0
i) i 188 214 234 448 % 80 80 111 191 HEBARTH 174 225 253 478 BWUE+=TH 0 0 0 0
4 this He 2,861 3,524 3,936 7,460 RifiFE 138 152 189 341 HEELTH 350 404 452 856 INEt 316 454 469 923
HZE A Hhis HES 1,709 2,086 2,314 4,400 AR o ERE—TH 51 57 70 127 HES/NTH 376 480 527 1,007 =1 11,508 15,870 16,754 32,624
BEARZE)I &t Ki2)NE1~4TH 776 974 1,083 2,057 BRE=TH 286 329 359 688 HMESNLTH 270 288 341 629
a2 & Ki2)I185~9T B 1,490 2,335 2,344 4,679 EREE=TH 44 64 71 135 KZEJNE—TH 334 406 456 862
W R A thig MWERE 2,172 3,199 3,284 6,483 il 64 63 72 135 KEZJNEZTH 96 120 133 253
XA iz HmxEA 2,184 3,298 3,324 6,622 ek 36 24 39 63 KEINEBZ=ZTHE 346 448 494 942
LA Hh i wIlE 316 454 469 923 it 39 51 57 108 KZJNEMTH 0
=11 18,266 23,926 25,244 49,170 hnyE R ER iz INGE 59 57 62 119 KENEBEETHE 244 410 395 805
INET 77 74 79 153 KZNEARTH 555 806 795 1,601 (FH)
AARAERHE- A O£ (IHILEE) §4 5 79 86 104 190 R2NEETH 328 506 517 1023 X5 s 4 5 % i
(LI EH 27 38 40 78 KENEBE/NTBE 363 613 637 1,250 mmEae—TH 161 203 211 414
1T I 4 BRI L 5 = &t HERE 102 110 126 236 KEINEATHE 0 mmE&e=TH 140 155 176 331
5 F st tisE 180 251 297 548 fit] W} 117 147 151 298 MWREE—TH 483 743 717 1,460 EMEXE=TH 139 154 179 333
[Fap il 412 575 601 1,176 TR 99 112 145 257 MREEZTH 124 193 195 388 AmEemTH 114 129 147 276
A6 3 B #thig FEE 391 570 576 1,146 [i] 45 52 56 108 MEE=TH 239 350 380 730 EMXEETH 56 66 66 132
T E i MTE 660 895 913 1,808 HRIR Hhig H 34 39 41 80 MREMTH 258 351 380 731 mAMmXEaNTH 165 192 214 406
HEF 59 60 87 147 BRI 66 70 89 159 MWRERTH 259 395 402 797 mmEaetTH 150 187 212 399
= BE i deiAT R 132 178 196 374 IhEF 72 83 98 181 MWMEENRTH 321 456 455 911 mmxa/\TH 185 224 239 463
B 226 347 376 723 mp 36 47 53 100 MWREETH 271 418 433 851 mAMXaEATH 185 215 238 453
e 45 45 69 114 L3 G 36 4 45 86 MWRE/NTH 217 293 322 615 mmEae+THE 181 210 234 444
a1 52 76 86 162 aih 36 M 46 87 wmEE—TH 261 319 318 637 mEmnxeE+—TH 250 305 318 623
EI\2 132 160 213 373 B/ 13 17 18 35 BEE-TH 348 531 505 1,036 mEmnEe+=TH 215 281 289 570
IRt &R i £33 73 102 130 232 N 5 6 5 11 BEXE=TH 344 550 571 1,121 mmEae+=TH 155 184 205 389
tiRa 53 70 80 150 CiEgN 31 43 45 88 HwEEMTH 277 427 449 876 mEmnEE+mTH 123 154 179 333
a5 100 146 143 289 BTF 21 29 27 56 BEERTH 363 569 596 1,165 mAnEae+aETH 137 181 168 349
tiae 148 172 202 374 4 2 ik ETFF 16 21 22 43 BESNATH 309 537 526 1,063 A5t 2,356 2,840 3,075 5915
37 69 92 83 175 3 9 13 11 24 mEELtTH 282 365 359 724
LRt ithig EIA8 95 126 124 250 =2E 8 6 10 16 wmEE/NTH 0 0 0 0
tIRo 112 138 153 291 it 3 6 6 5 11 INET 11,192 15,416 16,285 31,701
tJR10 88 109 131 240 PNy i 14 11 17 28
WEXN 25 25 22 47 it 31 45 51 96
= REX S 5 5 6 11 [R5 48 57 79 136
LR 65 50 60 110 FIN% & g Emxs 2,356 2,840 3,075 5915
=11 3,122 4,192 4,548 8,740 =1l 5722 6,771 7,512 14,283




